
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

  

 

 

 

 

 

 

Mr Hodgkins ordered 34 boxes of Jaffa cakes for 
his birthday. Mrs Stirling kindly gave him 13 boxes 

too. How many boxes does he have altogether? 

Mrs Harrocks bakes 22 cakes for the year 3 
meeting. If Mrs Ward brings 15 more, how many 

do they have in total? 

Dr Jones gave out 43 sherbet lemons to year 3 last 
week. He also gave 26 to year 4. How many did he 

give out in total? 

Mrs Williamson has read 53 books in her lifetime. 
Mr Mathew has read 25. What is the sum of the 

books they have read together? 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

The Orchards has 42 pupils in year 3 football club. 
There are 21 in rugby club. How many pupils are 

on the field at this time? 

Mr Burnham reads 36 pages of his comic on 
Monday. He then continues to read 42 pages on 

Tuesday. How much has he read so far? 

Mr Hodgkins’ son repeated the word ‘Cakey’  41 
times on Saturday. He then said it a further 26 

times on Sunday. How many times has Mr 
Hodgkins heard the word ‘’Cakey’  this weekend? 

35 pupils ride their bikes to school and 24 ride a 
scooter. How many scooters and bikes arrive at 

school each morning? 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Mr Mathew has earned 12 sparkle points. Mrs 
Harrocks wants him to gain 25 more by half term. 

How many will he have if he achieves this? 

Mr Gurney fixes 34 lockers before half term. After 
half term he fixes an additional 14. How many has 

he fixed altogether? 

What is the sum of 16 and 23? 

The school spends £12 on pens and £7 on pencils. 

How much has been spent in total? 


